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% Staff Selection Commission
san (Government Of India)

Challenges

QID : 401 - For determination of mode and median graphically, one considers:

TAE B gad R TifeesT & FHuRor & e Fufaed o f w faeR fear s
Options:

1) Bar diagram and Ogive

TR 3R 3R 37

2) Bar diagram and Line diagram
TR 3R 3R XM R

3) Histogram and Line diagram
KIBRACERTIN

4) Histogram and Ogive
3 o

Correct Answer: Histogram and Ogive
3 o 3R

Candidate Answer: Bar diagram and Ogive
TR 3R 3R

QID : 402 -

The value of k for which the function f(x) = {ke_ i ,x20

0, elsewhere
is probability density function, is

k &1 9H Jarzy, forad e Baq, fix) ={ke_3“ L x>0
MRl 91 e & ? R

Options:
1)1
2)2

3)3

4)1/3
Correct Answer: 3

Candidate Answer: 3
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QID : 403 - In the construction of cost of living index, commodities are selected by :

e Guei® S0 99T aeqeil BT b gRT =a fbar ST
Options:

1) simple random sampling

RSNG|

2) stratified random sampling
3) systematic sampling

4) judgement/ purposive sampling.

Ufass/ Aexd

Correct Answer: judgement/ purposive sampling.

U/

Candidate Answer: judgement/ purposive sampling.

U/ We g Ufd=a

QID : 404 - If x and y are uncorrelated variables then this implies :

x 3R y STETEG TR & o 39 ug o1ef gar fas -
Options:
1) the absence of any linear relationship between them

I T P 6 Hey el B

2) the absence of any quadratic relationship between them

3% o BIE fgordh ey T

3) the absence of any logarithmic relationship between them

3% S BIE AYIUIBI JaY T §

4) the absence of any trigonometric relationship between them

I S Pl BRI T6Y T8 &

Correct Answer: the absence of any linear relationship between them

I fT B Y@ deiy e §

Candidate Answer: the absence of any linear relationship between them

I T P 6 Fey el 2

QID : 405 - In simple random sampling of n units from a population of N units the quantity [1 - (n/N)] is called the

N g & FAf ¥ n gfic & WRa aRfs Ul &, 961 [1 - (n/N)] 6 51 Bl Il § ?
Options:
1) sampling fraction

2) expansion factor
UHR HRD

3) finite population correction factor
IR I Hedey RS

4) degrees of freedom
AT B DI

Correct Answer: finite population correction factor

R I Hedey RS
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Candidate Answer: expansion factor
TR HRD

QID : 406 - The coefficient of range of the weights of 10 students from the following data:
41,20,15,65,73,84,53,35,71,55 is

Faffad sidwel & 10 BE & IO &1 TUNH TR R gIN ?
41,20,15,65,73,84,53,35,71,55

Options:
1) 1.433

2) 0.696
3) 0.675

4)1
Correct Answer: 0.696

Candidate Answer: 0.696

QID : 407 - Consider simple random sampling with replacement from a population of size N. The number of samples of size n is

MY N P AR F ufaeuT IRd TRe aefse ufagad R IR &1 A n $ Ul &l I &
Options:
1) Np,

2) Ne,

3) NP

4) None of the options
fawen & Y w18 T

Correct Answer: N"

Candidate Answer: N"

QID : 408 -
Under usual notations used for Index Number calculation

ZP,95= 231 , ¥p,q,=228

£p,9,=295 . xpyq,=283

the value of Paasche's index is :

Taoie uRtee ¥ Ry vge g Sd & siTa
Tp,q,= 231 , $p,q,= 228

Zp;q,=295 ., EPg9, = 283

U & GEDI® B HH &
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Options:
1) 141.32

2) 132.78
3) 153.9

4) 104.24
Correct Answer: 104.24

Candidate Answer: [ NOT ANSWERED ]

QID : 409 - If a population consists of 10 units and SRSWOR is adopted, the probability of selecting a specified sample of 2 units is :
Tfe; ot Tmf® o 10 e § 3R SRSWOR SN ST B <Y 2 g & IRy ufiesl & = & e gnf

Options:
1) 1/10

2) 1/45

3) 1/90

4) 1/100

Correct Answer: 1/45

Candidate Answer: 1/45

QID : 410 - In drawing a sample of size n under SRSWR from a population of size N, the probability that a specified member is included in the chosen sample is

N 31T &t JAP F SRSWR & S=Td n ST T Ufde=f dd o sqa! widesar o ghi fas wer fafAfdy gewr 97 o ufdext & wnfdyq fmn mar @
Options:
1)

1—{1—% !

a)
(n-1)"
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Correct Answer:

1.N
:L—{:L—F

Candidate Answer:
(n-7)"
M n

QID : 411 - Suppose a person would earn Rs. 10,000 in base period. Suppose the cost of living index increases by 20% over base period. Then the employers of that
person increase his salary by Rs. 1500. Which of the following option is TRUE?

T TRTE 1S feT SR 3rafdf F 10,000 = iffd FRaT 71 MR af) F 3ra 9o Fafg Yaaics 20% ¢ w11 & | IRUTHRGEY I fd & FaiadT S¥eT I 1500
F 9g13d 7 | gy Fafied § 3 o1 I fiew w61 ?

Options:

1) He is just able to maintain the same standard of living as in base period.

JPT S TR I8 gl & i MR a7 o7 |

2) He should claim Rs 500/- as Dearness Allowance.
39 500 = P S Y BT 1aT HAT MRl

3) He can improve his standard of living as compared to base period.
qE SMYR A B o1 & T Siia TR Tk R Gobell B |

4) He should claim Rs 2,000 as Dearness Allowance.
i & ®Y T 2,000 = &I 1G] H1 MUl

Correct Answer: He should claim Rs 500/- as Dearness Allowance.

T8 500 = P HETE Rl BT &1aT BT F1ieul

Candidate Answer: He should claim Rs 500/- as Dearness Allowance.

I 500 F & TGS 1T BT GIaT BT A1

QID : 412 - The correlation coefficient between two variables X and Y is 0.4. The correlation coefficient between 2X and (-Y) will be :
WX IR Y & T TEUSY 077 0.4 § | 2X 3R (-Y) & oI Tgae] Tores R :

Options:
1) 0.4

2)-0.8
3)-0.4

4)0.8
Correct Answer: -0.4

Candidate Answer: 0.4

QID : 413 - Trace out the WRONG option from the following: (CLI= Cost of living index numbers)

frafafed o  Tdd e A FX: (CLI - Sia Fafe gasi®)
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Options:
1) If group indices increase k times, so also CLI does.

I YU 1 Yadhids K 0T Sgal § o FMalg Yaewie o dear g1

2) CLI remains unchanged if all the group indices increase by a constant amount.

gfe qu % Tl YEoie T RR AR ¥ §ed § ) Maie guois & 18 yRad el g gl

3) CLI helps determining Purchasing Power of Money.
fafe Yawie ga1 o1 a fw & HuRor & wge giar g1

4) Dearness Allowance is fixed by considering CLI.

Fafe TEei® W TR F=b 7R ym fFad fear s g

Correct Answer: CLI remains unchanged if all the group indices increase by a constant amount.

Ife o & Tt GEoie e R IR & 94 & o Mafe Yodie | $is uRkadd 981 oial 3

Candidate Answer: CLI remains unchanged if all the group indices increase by a constant amount.

I U & Tt GBIk T FRR AR & T ¢ d Fale Jawie # B8 uRad Te1 giar 8|

QID : 414 -
A sample of 60 students is to be selected from a population of 480
students belonging to 3 different schoaols.

diF 3feT SieT Dal & 480 Bl DI GHIP | A 7T 60 SHET &1

vl foean S 2
School | Nj (Total No. of student) | nj (sample size)
] BTl 31 Ha Hen o STy
A 120 ny
B 200 ns
c 160 ns

Drawing a sample using proportional allocation technique would give
n;r ng- n3 ds

HUId® s ot &1 9l &d g Widaad
?ﬁiﬁ‘[ﬁn;,n;.n; E?T‘ﬂ:

Options:
1) 15,25,20 respectively
15,25,20 ShHRT:

2) 12,27,21 respectively
12,27,21 HR:

3) 10,30,20 respectively
10,30,20 SPHRT:

4) 5,45,10 respectively
5,45,10 ShHRT:

Correct Answer: 15,25,20 respectively
15,25,20 $hHRI:

Candidate Answer: 15,25,20 respectively
15,25,20 ShHX:

QID : 415 - Relationship between real wage and money wage is given by

RfIe Hoigd 3R e Aogdl & o Tdy Fafifad § J oo gr qufar mrg 2
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Options:
1) Money wage = Real wage

2)
Cost of living index

Real Wwage = W X 100

e wegdl =m%xwu

3)
Money wage

Real Wwage = cm X100

FrIEE AL = é{ﬁﬁ:ﬂmcu

4)
Maoney wage

Price relation K100

Real wage =

FrfEE Fogdl = mﬁxwu

Correct Answer:
Maoney wage

Real wage = m X100

Freafad Aogdl = gﬂxwu

Candidate Answer:
Money wage

Real wage = cm X100

FrefaE Fogdl = é{aﬁ'?ﬂxmu

QID : 416 - When the collected data is grouped with reference to time, we have

gfe GuiRd el B THT & Feu & THg H 3@ ol € df I8 T bed § ?
Options:

1) Quantitative classification

HHATHD

2) Qualitative classification

TUMTHSD

3) Geographical classification

4) Chronological classifications
Correct Answer: Chronological classifications

Candidate Answer: Chronological classifications
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QID : 417 - In SRSWOR of size n from a population with N units if p is the proportion of sampled units having a given attribute, then unbiased estimate of V(p) is
N I 3 TP M@TT n % SWSWOR % Si=iid afe p Ufiet gfie &1 orura 7 fora faar a1 o 1o 81, &t V(p) BT ARG 31ehd 8T
Options:
1)
pq
(n—1)N

2)
pg/n

3)
N(N-n)pq / (n-1)

4)
(N—n)pq
N{n—1)

Correct Answer:
(N—n)pq
N(n—1)

Candidate Answer:

(N—n)pq

N(n—1)
QID : 418 -

The data about the sales and advertisement expenditure of a firm is
given below
Sales Advertisement exp
(in crores of Rs.} (‘ln crores of Rs)
Means 40 6
Standard Daviation 10 15

The correlation coefficient between sales and advertisement expenditure

is 0.9. The likely sales for a proposed advertisement expenditure of Rs
10 crore

e freht v @1 fopt iR fammom & ofids feg e g |

it =
(wesewisr) (wmwwiv)
e 40 6
P ECACERE] 10 1.5

farept 3R AR W gU oy (@) &1 YesaY Ui 0.9 21 RemaE
T 10 TS & o7 Wallda o | Syifda fasst fia-t gt 2
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Options:
1) Rs 64 crores
64 TS =

2) Rs. 67 crores
67 RIS &

3) Rs. 70 crores
70 R RS

4) Rs. 58 crores
58 IRIG =

Correct Answer: Rs 64 crores

64 TS T

Candidate Answer: [ NOT ANSWERED ]

QID : 419 - Which type of sampling is one where only the first sample unit is selected at random and the remaining units are automatically selected in a definite
sequence at equal spacing from one another. It is :

I DI UHR HT Ufdae 8 o Faa vgeh ufexf gfie arfess &0 4 T ol § ok [W gfAe w@a: 8 ue P sren & te R ¥ M Sfavid IR g oIkt § 2
Options:
1)pIVIIgIIt1isstage sampling

INCRE

2) Quota sampling
[REREIEIRED

3) Systematic sampling
PHIR

4) Area sampling
& vforrae

Correct Answer: Systematic sampling
PHIS

Candidate Answer: Systematic sampling
PHIG

QID : 420 -
If the mean and the standard deviation of n observations

X1,X3,....X, D& X and o respectively, then the mean and

standard deviation of -x;, -¥p, -X3,...,-X, are, respectively, :

e N TBIT  X4,X0eX, o ATED 3T ATTF Taaele FA:
XHAR o BT AT Xy, Xg, Xzpee%, & AT AT TAF
farretet shaven: &m gl ?
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Options:
1)
xA,-O

Correct Answer:
2%, O

Candidate Answer:
%, O

QID : 421 - A random sample of size n is drawn from a population of size N by SRSWOR method. Then the standard error of sample mean will be zero if n is

SRSWOR fafel GRT ST N &1 Gf® & ST n &1 Arefeses uidest forar man € 1 Farse oy fRufd & vfdest e ot aFe 3 3= gt afe n &1 3 g 2
Options:

1HN-1

2)N

3) tending to infinity
ECRkdl

4) none of the options

Correct Answer: N
Candidate Answer: tending to infinity
SORITE &t 3R Ua 81

QID : 422 - The coefficient of correlation between two variables X and Y is 0.48. The covariance is 36. The variance of X is 16. The standard deviation of Y is :

A WX 3R Y & o TG 0T 0.48 T | TEUIRU 36 B | X BT YT 16 B 1 Y T HHS fage @ :
Options:
1) 10.15

2) 13.32
3) 16.5

4) 18.75
Correct Answer: 18.75

Candidate Answer: 18.75
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QID : 423 - If 4,5,6,6,6,6,6,6,6,7 be a random sample from a Poisson population with parameter A, then an unbiased estimate of A is :

T2 4,5,6,6,6,6,6,6,6,7 U A Tied @ GHS HT T Tefdd Ulaes 8, @ A BT AT MHa @ :
Options:
1) 4.2

2)5

3)5.8

4)6

Correct Answer: 5.8

Candidate Answer: 5.8

QID : 424 - There are 35 students in a hostel. If the number of students increases by 7, the expenses of the hostel increases by Rs. 42 per day while the average
expenditure per head diminishes by Re. 1. The original expenditure of the hostel is:

ngﬁmmﬁ%w% | gfe BET B e 7 3R §¢ SN O SEEN T 42 F Ul & B ¥ a¢ wir § fborg ufa 36 $iied T 1 & ge a1 8| SEaN &l ga
&Y FTUT?

Options:
1) Rs. 380

2) Rs. 420
3) Rs. 490

4) Rs. 510
Correct Answer: Rs. 420

Candidate Answer: Rs. 420

QID : 425 -

A random sample of size 81 is taken from a normal population with
unknown mean p and known standard deviation o = 0.90. If the
sample mean is %= 20 and the upper 2.5% point of a standard normal

variable is Ty gzc= 1.96, then 95% confidence interval for p is:

HAT A p AR 10 AF Aged o =0.90F @AM
YOS OHSE I AT 81 1 Jeicod Uiagel fer Ardm
g1 aft ufdgel A %= 208 3R AW gART 9 =
FO 2.5 % g To025=1.96 BT ol p T 95% fareamearar
el F41 BRI ?
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Options:
1) (19.80, 20.20)

2) (18.90, 21.40)
3) (18.60, 21.80)

4) (18.40, 21.60)
Correct Answer: (19.80, 20.20)

Candidate Answer: [ NOT ANSWERED ]

QID : 426 -

For a bivariate data set on (x,y), if the means, standard
deviations and correlation coefficient are
x=1.0,y=2.0,

s,=3.0,5,=9.0,

r=0.8 Then the regression line of yon xis:

(XY) W gfa=r 3mhst ag==a & Ay, afg AT,
Aot fagas 3R wgday ons S §
x=1.0,y=2.0,

sx— 3.0, Sy = 9.0,

r=0.8 ar X 9T Y & TARIOT L@r gt :

Options:
1)y=1+24(x1)

2) y=2 + 0.27 (x-1)
3) y=2 + 2.4 (x-1)

4)y=1+ 0.27 (x-2)
Correct Answer: y=2 + 2.4 (x-1)

Candidate Answer: y= 2 + 2.4 (x-1)

QID : 427 -
Consider two univariate normal populations: N{py, 012] and N(pg, 022]
with 012= 4 and 022= 6. Let x; be the mean of a random sample of size
10 from N{py, 512) and x, be the mean of a random sample of size 20
from N(p,, 022]. then the test statistic for testing Hp:py = i is:

T U TR W AT N(py, o) 3R Nikg, 0F' ) R R &%

o of = 4 3R o = 681 HF AT N(y,, 02) T 3T 10S

arefes® ufaad &1 X § SR Ny, of) ¥ ST 20 & TRfSE
Ufes &1 719 %, ©, Tl Ho:pa = pp & IR0 & @1Q gdiamn wfdesis @ g 2
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Options:
1)

£/30 (X;—Xy) "o.7

2)

(X=X} / o7

3)
(X;—X;)*/ 0.7

4)
[X,—X%,| /0.7

Correct Answer:

(X=X} / o7

Candidate Answer: [ NOT ANSWERED ]

QID : 428 - Which of the following is a method of collection of primary data?

PufaRed & I S U siiws Uh o o A g 2
Options:

1) Direct personal interview

TE G TETHR

2) Indirect personal interview
YA T TENBR

3) Schedules through enumerators
[ T o i

4) All of the options
it fawe

Correct Answer: All of the options

Wi fawe

Candidate Answer: All of the options
it fawe

QID : 429 -
Let -2,2,5,9,-9.7.-7 be the observations drawn from a population

having p.d.f. fix) ={e—[x—a:| ; x>8 Then the MLE of B is:

0 ; otherwise

A AR WifdsaT 99 e (p.d.f) f{x}={e_‘“‘9’ ;x>0
0 ; 394l

el gAiP 8 ford T Nermr 2,2, 5,997,782 T 6 BIMLER :
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Options:
1)9

3) -4/3

4) 4/3
Correct Answer: 9

Candidate Answer: -4/3

QID : 430 - If the regression line of Y on X is Y =30 - 0.9X and the standard deviations are Sy = 2 and S, =9, then the value of the correlation coefficient ryy is :
e X TR Y BT HIHIHGO @I Y =30 - 0.9X § 3R HF fd=ei Sy = 2 3R S, = 9 & il AgHaY UTieb r,, BT H T EII 2

Options:
1)-0.3

2)-0.2
3)0.2

4) 0.3
Correct Answer: -0.2

Candidate Answer: -0.2

QID : 431 - A coin is tossed repeatedly until a head appears. If 'p' be the probability of getting a head in any toss and x be the number of tosses required to get the
first head then which of the following statement is true:

% RieP P! IR-IR d9 d IBET o1 & d d ' 7 o el A bt +ff 3= & 'Ria & o &1 wiidedr 'p' § 3R fhdit IR Righ &1 SeTen ot & gl R e
o VI, 39! T x § ) 9aRy Y - fifea & § S vy T8 8

Options:

1) x is an unbiased estimator of p

X, p BT AT el §

2) 1/xis an unbiased estimator of 1/p
1/x, 1/p &1 AT 3MThd &

3) x is an unbiased estimator of 1/p
X, 1/p T SFMFA 3hel &

4) 1/x is an unbiased estimator of p
1/x, p BT AR 3MHa 8

Correct Answer: X is an unbiased estimator of 1/p

x, 1/p BT AT Hd §

Candidate Answer: x is an unbiased estimator of 1/p
x, 1/p BT 3R Md
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QID : 432 -
n
.Elixi—-ﬂ\}z
i= = =
fP=-—f——75 i A#X, (x= Arithmetic Mean)
- (Xi—""}
i=1
thenPis:
n
I"—Zl{xi_ﬂ]z =
Hhp=F— ; Agx, (=WRAW)
i'_;: (x—x
P Erm
Options:
1)<1
2)>1
3)1
4) 1

Correct Answer: > 1

Candidate Answer: < 1

QID : 433 -

Let X1 ,%3,...,%n be a random sample of size n from N (u , o2) population
where g and o are both unknown. For testing Hp:p = pp against
Hy:p = py{ ¥ ng) if one uses the test statistic

n n

= 2

- S 1
= DEH) pere 5=1 Sxjand F= iy 3
i=1 i=1

T
52

2
(%-x)
then Hg is rejected at level a if :

.....

Gﬁiﬂﬁp Gmaﬁﬁﬁﬂﬁngl:u=ul{¢uo]a5'ﬂﬁH°:u_=u°aaqﬂ&T;3T37ﬁm
o 2

af whegor ieeer 7= L0 o fn i 2

e g-a 2x ok ik 2 R’ A

Haaﬁmumaﬁwaﬂﬁmm_ﬁqﬁ:

Options:
1) Observed T > tg p-1
af\&lﬁ T> t'<:1,n—1

2) Observed T > ¥%q -1
Of&a T > Xza,n-l

3) Observed T > 22,
R T > 22,

4) Observed T > Fg;q -1
Ol T > Fa;1,n-1

hitp//thepracticetestin/csdecjan17/respohssVdiies iuns pHyitQem Bie geppin=lassos2dmiovieos (mzeédosdssst. Lert. In 15/42
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Correct Answer: Observed T > Fg.1 n-q
Oferd T > Fa;1,n-1

Candidate Answer: [ NOT ANSWERED ]

QID : 434 - For a trivariate distribution, if the correlation coefficients are ry =ry3=ry3 =r,-1 <r <1, thenryy3is:

WW%W,H@WHWHZ =ri3=rns3=r, -l<r< 1%3}!’123@“{2
Options:
1) (1-r)/r

2) (1+r)/r
3)r/(1+r)

4)r/(1-r)
Correct Answer: r / (1+r)

Candidate Answer: (1-r)/r

QID : 435 - An observation is drawn from an experimental distribution with mean 6, if the observation is found to be 2, and we test Hy: 6>1 against Hy: 6>1 with
level e73 then

6 T AT bt TRt de A U Nefor foran ran, afe Yefor 2 ur T 8 S8R 81 Hy: 6>1 3 URY Hy: 6>1 3T URE0N 3% § WR o3 Tad gY, ot -

Options:
1) Hp will be rejected
Hg 3rEidR &R fear smem

2) Hg will be accepted
Ho WdHR & feram simem

3) test will be of power 0.5
ORefoT TR 0.5 BT ERT

4) test will be of power 0.9
OReoT JfET 0.9 BT ENT

Correct Answer: Hy will be accepted

Ho THR & fordm Simem
Candidate Answer: [ NOT ANSWERED ]

QID : 436 - The average of 25 numbers is 36. If the average of first 13 numbers is 32 and that of the last 13 numbers is 39, then the 13th number is

25 a3l 1 3d 36 71 I Ugel 13 TRemell &7 3gd 32 8 3R 3ifqw 13 Jwmai #6139, Y 13 df Gen e g ?
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Options:
1) 27

2)33
3)23

4) 21
Correct Answer: 23

Candidate Answer: 23

QID : 437 - In an analysis of variance problem involving 3 treatments and 10 observations per treatment, SSE= 399.6 The MSE for the analysis would be :

e v fazasor &, 5w ufd Iu=R 10 Deoi & R ¥ 3 ITAR 8, SSE = 399.6 A=Al Y MSE &g
Options:
1) 14.8

2) 133.2
3) 44.4

4) 39.9
Correct Answer: 14.8

Candidate Answer: [ NOT ANSWERED ]

QID : 438 -

If six hand-writings were ranked by two judges in a competition and
the rankings are as follows:

ferit gwafafa nfeaifiar # 31 Rofast 3 ©: gl &1 Fefafed Sife
fefor fesan

Hand Writing
FAGIGIR

1 2 3 45 6

Judgel/ FUEH1|( 6 5 4 3 2 1

Judge2 /FUEH 2|1 2 3 4 5 6

Then the value of Spearman's rank correlation coefficient is

il witawie & Sife Fgsss TNE S AF T g 2
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Options:
1)1

2)0.5
3)-0.5

4) -1
Correct Answer: -1

Candidate Answer: 1

QID : 439 - In an ANOVA problem for one-way classified data, with three classes and three observations per class, if the F- value is 1.5 and the total sum of squares
is 18, then the mean square between classes is :

gﬂmwﬁﬁ Sl P U TAIAT (ANOVA) W H, ol I oy gF ofiR wif aarg < Teqor €, afg F - O 1.5 8 $iR il o1 o AT 18 Bl <Y ol b &g o Aregy aif

Options:
1)2

2)3
3)4

4)5
Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]

QID : 440 -

The mean and standard deviation (s.d.) of runs scored by three batsmen
A, B and Cin 9 consecutive matches are given below,

A7 etiarSi A, B 3R ¢ R, 9 AN Al & Sl I S0 3951

e 3R AF® [G9eH (s.d.) S fRar T g -
Batsman Mean s.d.
O g [dgad
A 40 4
B 64 8
C 72 12

Considering coefficient of variations as the measure of consistency,
which of the following is correct:

faaRur & Tunies &1 Eid &1 A A g, Feffea A sR wad 8

http://thepracticetest.in/csdecjan17/respohssVdiiesisi< by dadamB Iamﬁﬁ:EﬁGIBZdWWWSGV@NédGB@SGA lert.In 18/42



172612017 Download More PapeStafSeisctionGommisionovtJobsAlert.In

Options:
1) A is the most consistent
A T T §

2) C is the most consistent
C Gaffie ¥ §

3) B is more consistent than A

B, A ¥ 3 T §

4) Both (B) and (C)
(B) 3R (C)aHr

Correct Answer: A is the most consistent
A Taifeies T §

Candidate Answer: A is the most consistent

A Faiite 9d §

QID : 441 - In the analysis of two-way classified data if p and g are the number of levels of the two factors then an unbiased estimator for the error variance is
given by

fom aiffepd srims! & fazawur # afe p #iR g < TSI & WRI B T& § @ I TR0 BT SFET e fhad gRI U Bidm 8 ?
Opti :
1)p 1ons
SSE
(p-1) (g-1)

2)
SSA
p-1

Correct Answer:
SSE
(p-1) (g-1)

Candidate Answer:
SSE
(p-1) (g-1)

QID : 442 - If a data set contains n paired values on two variables x(independent) and y(dependent), then their plot is called :
gfe; Bt el & W= | 41 =R x (W) 3R y (AT J T n fam A 81 dl 379 Wi &l 1 Hel ?
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Options:
1) Dendogram
S

2) Point diagram
3

5

3) Scatter diagram
THI0] S

4) Correlogram
Teudy fom

Correct Answer: Scatter diagram

TP SRE

Candidate Answer: Scatter diagram

QID : 443 - An ANOVA procedure is used for data obtained from five populations. Five samples were taken from the 5 populations each comprising of 20
observations. The degree of freedom associated with F is :

Ufe TP U 3fiehs! & T ANOVA Tfhar (Ui STt B | Ui Iy o & g I Uaful 1 Ueh-Ueh Wide sl fen M g | F o Ty St o=l Pife Jaisy
0505
2)5,99
3) 4, 99
4) 4, 95

Correct Answer: 4, 95

Candidate Answer: 4, 99

QID : 444 - The data taken from the publication "sankhya" will be considered as :
RS USRI I T 71T 3fiema) bt o HIHT ST ?

Options:
1) primary data
RIS 3idhs

2) secondary data
T 31

3) Either (A) or (B)
a1 (A) a1 (B)

4) None of the options

fawed & ¥ P 76T

Correct Answer: secondary data

Candidate Answer: secondary data
T 3
QID : 445 - Suppose ryy is the correlation coefficient between two variables X and Y

where s.d.(X) = s.d.(Y). If 8 is the angle between the two regression lines of Y on X and X on Y then :
HH ASTG & =R X SR Y & o e Hefts 01 ry, B, oM 5.d.(x)
= 5.d.(Y) IR X RY 3R Y R X & < TS @i F s 0 BT 8, o -
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Options:
1)

2
sing= | l_rx\r

Mgl

2)

2
cosg= |1 Ty

N 1+r,<2,‘f

3)
it 2
fﬂﬂe—\ 1—5(\;

4)
1-r2
tanB=1*

iy

Correct Answer:
2
l—gv
2
1+r,u'f

sing=

Candidate Answer:
1-r2

2
Ry

tanB=1%

QID : 446 - Which of these statements on variation is INCORRECT?

faeRUr & Geiy B Fuffad § § B9 9 HyE T § 2
Options:
1) Chance causes variations are preventable.

frerur & AT gqeil @ o= o Iear g

2) Chance causes are beyond the control of human hand.

GaNT ¥ Hd P g0 J SER 8

3) Assignable causes of variation are preventable.

faaRu & Ty SR A 5= o bl §

4) Assignable causes can be detected and measured.

DY HIGH a1 ST epdT § SR 3fichT oI Wevdll &

Correct Answer: Chance causes variations are preventable.

faeRUT 3 TT B3N § ST o Webel §

Candidate Answer: Chance causes variations are preventable.

farerur & AT gqeil @ a= o IHhare

QID : 447 - In the one-way analysis of variance model with k factors, let MSE denote the mean sum of squares due to error, MST denote the mean sum of squares
due to factors, MTS denote the mean total sum of squares. For testing and homogeneity of the factor means, the test statistic is

k TS ATS TRRUT Wisd & Tl fAzawor &, A o o MSE gferd aar & Feal & SR o7 & A1ed WS &Y, MST IfRrd &Rl § TSI & BRUT a¥lf B |1 SIS B, MTS
YT FRAT R I P A T SIS P, TS ATeAT P GHATT &b TR&T P g, uRemr ufaesi @

Options:
1) MSE / MST

2) MSE / MTS
3) MST / MTS

4) MST / MSE
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Correct Answer: MST / MSE

Candidate Answer: MSE / MTS

QID : 448 - Suppose two distributions have the same mean, same standard deviation and are equally skewed, but the first distribution is more peaked than the
other. This feature of the frequency distributions in which they are different are called :

A SHOTT & Sl & GHH A1 &, 99 A Gaed & 8k 3 T ¥U 9§ fJud g, fbeg Tgen s gur ded @1 oftiel S 3= 1 Sfqf se &t g5 fafkmwan fores
i sc i €, T el § ?

Options:

1) Central Tendency

EZREEIR

2) Dispersion
3) Symmetry
T

4) Kurtosis

Correct Answer: Kurtosis

PPadl

Candidate Answer: Kurtosis

PPpadl

QID : 449 - In ANOVA for testing the equality of group means, one conducts

THE- T BT FHMAT B U0 & oy fet ANOVA T, I I Ttequr HRAT 8T g 2
Options:

1) standard normal test

TG HEH Teor

2) chi-square test
IS~ 71 gRE0T

3) T-test
& ufkem

4) F-test
- UReEr

Correct Answer: F-test
- GRET

Candidate Answer: F-test
- UReEor

QID : 450 - If P(A N B) = 1/2, P(A® N B®) = 1/2 and 2P(A) = P(B) = p, then the value of p is :

e P(A N B) = 1/2, P(AS N BE) = 1/2 3R 2P(A)= P(B) = p &l I p %I A ¥dIST ?
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Options:
1) 1/4

2)1/2
3)1/3

4) 2/3
Correct Answer: 2/3

Candidate Answer: [ NOT ANSWERED ]

QID : 451 - Ratio to trend method for seasonal indices provide good results if:

TRt GEreich % T SuATa § SruTd Al & erey aRoms o € &, 3 :
Options:
1) the periods are given six monthly

Ity SaTRY < MY

2) the periods are of short duration

3(afd 3¢y pifeid &

3) the periods are of long duration

4) All of the options
ot fawe

Correct Answer: the periods are of short duration

gy 3y Pifcied &1

Candidate Answer: the periods are of long duration

3afdy

QID : 452 - In a class, there are 25 students whose average age decreases by 3 months when one student aged 22 years is replaced by a new student. The age of
the new student is :

Tt e &, 25 o 81 afe Hem F 22 9 F U T P WH W UH 7971 S A T 8l 37 25 B B 37N 341 3 TG U S 81 7Y B BT 37 FARY ?
Options:

1) 16 Yrs 2 months

16 a¥ 2 I7g

2) 20 Yrs 5 months
20 9Y 5 A8

3) 15 Yrs 9 months
15 a¥ 9 ITg

4) 18 Yrs 3 months
18 9% 3 HIg

Correct Answer: 15 Yrs 9 months
15 9% 9 A1®

Candidate Answer: 15 Yrs 9 months
1595 9 A1g
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QID : 453 - Based on results of 2 way ANOVA, the SSE was computed to be 139.4. If we ignore one of the factors and perform one way ANOVA using the same
data, SSE will :

f&aT ANOVA % RO & STYR TR SSE 1 UResferd famam T 3iR a8 139.4 311 | If¢ 89 I79 ¥ T Hhaex W &H 7 ¢ 3R 3 3ATHS! BT TN IR §U THYT U-aT
B3 dl SSE T QM ?

Options:
1) increase

2) decrease

3) remain same

ERUERG

4) Either (A) or (B)
a1 (A) T1(B)

Correct Answer: increase

Candidate Answer: remain same

ERIGRE

QID : 454 - If the annual trend of production (Y) of a certain commodity in a factory with origin 2,000 and X unit = one year is Y= 148.8 + 7.2X Then the monthly
trend equation is :

Ife, et Tt o forft ag o1 1ffer Sy Sere () foraesT 37 2,000 STR X T = TH A B Y = 148.8 +7.2X § o AR U JHichRur FaTsy ?

Options:
1) Y =12.4 + 0.05X

2)Y =124 + 0.6X
3) Y = 148.8 + 0.6X

4) None of the options

faedl § QP15 6T

Correct Answer: Y = 12.4 + 0.05X

Candidate Answer: Y = 12.4 + 0.6X

QID : 455 - If Ay, A, and A3 are three independent events with P(A1) = 1/3, P(Ay) = 1/4
and P(A3) = 2/5, then the probability that exactly one of the events occurs is :

e Ay, Ay 3R Az A T T8 § o P(A;) = 1/3, P(Ay) = 1/4

3R P(A3) = 2/5 & 0 3UB! T Tl 8FT 6 370 § Had W

geT ufed grit ?

Options:

1) 3/20

2) 1/10

3) 9/20

4) 3/10

Correct Answer: 9/20

Candidate Answer: 3/10
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QID : 456 - If the trend line with 2008 as origin is Y= 20.6 + 1.68X, then the trend line with 2004 as origin is :
TS I XaT, oIt 3T 2008 BT Y = 20.6 + 1.68X & I, 2004 ST T IUAL T &1 BHIY ?

Options:
1) Y = 34.61 + 1.68X

2) Y =20.6 +6.72X
3) Y =13.88 + 1.68X

4) None of the options

SWIE H A Pg 61

Correct Answer: Y = 13.88 + 1.68X

Candidate Answer: Y = 13.88 + 1.68X

QID : 457 - Moments are statistical constants from which we can find the different features of a distribution. Which one of the following is INCORRECT ?

3Tyl Wi fRR® 81 & R ) se 3t it fafRmyans arem &2 Iwd 7 | R & @ - e 8 2
Options:

1)pFIi(r)_c>rtlsCentraI Moment is the mean.

TyT B 3ol [red B

2) Second Central moment is the variance.

fgcfa Biig smyof TR 1

3) Second and Central Moments are needed to find skewness.

I I PR & o g iR gefia Biiar amgef 5 srazgedr g1t R

4) Second and fourth central moments are needed to find the kurtosis.

FPHedl I B & T fgcdi 3R T Besir sirepef &t srazaesan It 7

Correct Answer: First Central Moment is the mean.

TYH B 30T HIe B

Candidate Answer: First Central Moment is the mean.

T B MYl T g

QID : 458 - If the equation of exponential trend with 2004 as origin is Y= 20(1.5)%, Then equation of the exponential trend with 2006 as origin is :
g 2004 IITH AT ARG JUART BT THBROTY = 20(1.5)* g <t

2006 ISITH TTel TRETIDHT ST BT FHIHRUT T RT ?
Options:
1) Y = 20(1.5)%

2) Y = 45(1.5)
3) Y = 8.89(1.5)%

4) Y = 20/(1.5)
Correct Answer: Y = 45(1.5)%

Candidate Answer: Y = 20/(1.5)%
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QID : 459 - A closet contains 8 pairs of shoes. If 4 shoes are chosen at random, then the probability that all the four shoes are of the same type (left or right) is :

fareft oremr & 8 TSI S € | Afe 4 o TRfe U A g 9, O 39 31 WA g1 5 TRl o U 8 UeR & § (ST a1 9
Options:
1) 1/13

2) 2/13
3) 3/13

4) 4/13
Correct Answer: 1/13

Candidate Answer: [ NOT ANSWERED ]

QID : 460 - Demand for seats in a university is at its highest in the fall; demand also trends to grow and fall off in 25 year waves. In time service forecasting, the
former demand characteristic would be called and the latter would be called .

wid g & g9 e o Wel @ A siftean g €, 25 9 & IaR-ded W A ggd! W &, ged! ot §1 Bra-9uft & gafgam & ugeh ardh w @t afkwar &
e SITU 3R §1G aTeht i BT S|

Options:

1) seasonality; cyclicality

Tl ; Tpid

7

2) cyclicality; seasonality
Il ; At

7

3) randomality; seasonality
; Tt

7

4) seasonality; variability
; TRac=ferar

7

Correct Answer: seasonality; cyclicality

’

Candidate Answer: seasonality; cyclicality

7

QID : 461 - Fill up the blank: The secular trend is the part of time points where more or less regular and
or decline.

Rerd @M & - defepierd IR et A0 1 98 WM § ofgf pAlaw Fafa ek fewrd eary , Rrgd ar dt 9 &Y ugfy =fvd gt § a1 firmae @
Opti :
1)plc:¢n);-sterm movement

is observed showing either the tendency of growth

2) short-term movement
e Piferep T

3) oscillatory movement

4) None of the options
fawedi & ¥ B 51

Correct Answer: long-term movement

& Siferes i

Candidate Answer: long-term movement

& Prferes T
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QID : 462 -

Following histogram shows certain frequency distribution against class
intervals.

FafefEa smad faa & anfawa & ofd $2 smafy sea cafu o &
Y

24 —

20 —

Frequency / smgfi ————>
=
%]
|

LAA X

10 20 30 40 50 80 7O

Class interval / affRg —

The approximated mean of this distribution is :

39 ded &1 HFEfa A g -

Options:
1) 34.34

2) 35.42
3) 37.86

4) 36
Correct Answer: 37.86

Candidate Answer: [ NOT ANSWERED ]

QID : 463 - In a multiplicative time series model, the seasonal indices computed by the ratio-to-trend method

ot oI e Aol Aisd | IUAR - Srud fafy & uftefea Tl YEeie w g ?
Options:

1) are alternate in sign

fag ¥ iR

2) add to 0
0 wIg

3)addto 1
19SS

4) multiply to 1
1H TR

Correct Answer: multiply to 1

1 H o R

Candidate Answer: add to 1
1He

QID : 464 - For two equally likely, exhaustive and independent events A and B, P(A N B) is :

JIH FT J T, Tafih iR T gesit A 3R B & g, P (ANB) T 8RN ?
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Options:
1)0

2)1
3)0.5

4) 0.25
Correct Answer: 0.25

Candidate Answer: 0

QID : 465 - To remove quadratic trend from an additive time series, differencing :

forelt g @ oft & fgemcht IuAfd R H & fo SR &t :

Options:
1) cannot be used.

AT g fosar S wedn

2) should be used once.

T IR YA 1 1T

3) should be used twice.

3l IR TN ST I18T

4) should be used at least three times.

A Y HH O IR TN HAT IMeY

Correct Answer: should be used twice.

3l SR TGN AT I1RT

Candidate Answer: should be used once.
% IR TN BT AMRT

QID : 466 - For four observations -1, 0, 1, 4, the measure of kurtosis equals

-1, 0, 1, 4 IR V0T & T Hpaar &I A By SRIeR g1 2
Options:
1)1

2)2
3)3

4)4
Correct Answer: 2

Candidate Answer: 4
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QID : 467 - In multiplicative model of time series:
Xt= Te x S¢ X Gy x It, where Ty, St , C¢, It are trend, seasonal, cyclical and irregular components, what can be said about the values of I;?

P Joft & oIS Alsd |
Xe= Te X S¢ X Cp x Iy, ST€1b Ty, St , Cr , I ST, Tt , Ihig aiR

TR Ted § | 1, & A & IR B 1 HgT ol Thal § ?

Options:
1) I; is a random positive quantity
I, U5 Yo AR §

2) I; is a random negative quantity

I, TS HUTETH HET §

3) I; is non-random positive real quantity
I, TR-IEfRS® (e aieis A g

4) I; is a non-random negative quantity

I, IR TS HUTHS AHT 3

Correct Answer: 1 is a random positive quantity
I TEf® eHTd® AT 8

Candidate Answer: I; is a random positive quantity

I, TEf® eFTH® AT 8

QID : 468 - Let A and B be the two possible outcomes of an experiment and suppose P(A) = 0.4, P(A U B) = 0.7 and P(B) = p, for what choice of p, A and B
independent?

TH AT A 3R B B ua & Tva uRomm § SR | Ao s P(A) = 0.4, P(A U B) = 0.7 IR P(B) = p 8 dl p & fohg aRu1 & oW A SR B Wi € ?
Options:
1)0.2

2)0.3
3)0.4

4) 0.5
Correct Answer: 0.5

Candidate Answer: 0.3

QID : 469 -

Consider the following time series data:
Frafafaa & - Joft siwst w) R &

ad/veart | 1990 1991 1992 1993 1994
yi | S 7 3 6 3

Fitting a straight-line, is the trend value for the year 1992 is :

TRl T BT THoH ¥ gY, 9 1992 &1 SUAR A @ @ 2
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Options:
1)3

2)4
3)5

4)6
Correct Answer: 6

Candidate Answer: 3

QID : 470 - If the arithmetic mean is 26.8 and the median is 27.9, then the mode is :

e qHER AT 26.8 BY SR TSI 27.9 B ) Sgad o1 §I ?

Options:
1) 27.3

2)29.3
3) 30.1

4) 27.4
Correct Answer: 30.1

Candidate Answer: 30.1

QID : 471 - In time series analysis which source of variation can be estimated by the ratio-to-trend method:

Pra Aol fawarr & sruTa-Iu=fa faftr 3 faeror & 5w Tid o sifeer o ST 8 2
Options:

1) trend

I

2) seasonal variation

3) seasonal index

o TEwsis

4) cyclical fluctuations
Ioh IaIT

Correct Answer: seasonal index

ot TEsis

Candidate Answer: trend
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QID : 472 - The probability that a contractor gets a plumbing contract is 2/3 and the probability that he will not get an electric contract is 5/9. If the probability of

getting at least one contract is 4/5, then the probability that he will get both the contracts is :

P 3PHER B TABH BT 31 BT, T URichaT 2/3 & 3R fosTell BT St I ) f3am SIww 59 a1d &t Wiliehdl 5/9 &1 39 $H  HH Tdh 31 AT 59! UilieedT

TR 4/5 B A IQ ST 5 oM B UTRIBdT Ia=™y ?

Options:
1) 13/45

2) 14/45
3) 16/45

4)17/45

Correct Answer: 14/45

Candidate Answer: [ NOT ANSWERED ]

QID : 473 -

If a time series data is given below then find three yearly moving averages

to find trend.

i e 4ot Jadt e fon e €1 TR Aem FA & fow &7 adfa

TR A1 JIgE &Y
Year Value in lakh tons
EL AH @ e
1998 30
1999 35
2000 25
2001 42
2002 62

Which one of the options is correct:

fefafedd S e wliea g e ?

Options:
1) 30, 34,43

2) 90, 102, 129

3) 35, 25, 42

4) 43,33, 30

Correct Answer: 30, 34 43

Candidate Answer: 30, 34 ,43

QID : 474 - If the actual values in time series from 2000 to 2006 are 77, 88, 94, 85, 91, 98 and 90 and the equation of the trend line with 2003 as originis Y = 89 +

2X , then in case of multiplicative model, the trend eliminated values are :

TfE 2000 ¥ 2006 I HIa A0l F IRAQAH HH 77, 88, 94, 85, 91, 98 3R 90 &Y 3R 2003 B I<TH T A Y U T BT THIHBR : Y = 89 + 2X €, Tl THIHAS

Hisd & AMa H, IuAf FR1e60r A 741 81 2
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Options:
1) 0.93, 1.04, 1.08, 0.96, 1.0, 1.05, 0.95

2) 1.08, 0.96, 0.92, 1.04, 1.0, 0.95, 1.05
3) 0.93, 0.96, 1.08, 1.04, 1.0, 0.95, 1.05

4) None of the options
fawedt B 9 1S T8

Correct Answer: 0.93, 1.04, 1.08, 0.96, 1.0, 1.05, 0.95

Candidate Answer: [ NOT ANSWERED ]

QID : 475 - A and B are two independent events in a given sample space and the probability that both A and B occur is 0.16 while the probability that neither occurs
is 0.36, then P(A) and P(B), respectively are :

aﬁﬂéwuﬁgw@ﬁAaﬁvs?ﬁmaw%’aﬁmaﬁ?Baﬁf‘aﬁaﬁﬁ,saamaﬁw@wo.m%,sﬁ@aﬁéa&aﬁﬁﬁswﬁq@wo.%%l @ P(A) 3R
P(B) ShHRI: :

Options:

1) 0.6, 0.6

2)0.8,0.2
3) 0.4, 0.4

4)0.9, 04
Correct Answer: 0.4, 0.4

Candidate Answer: 0.8, 0.2

QID : 476 - Link relatives in a time series remove the influence of :

H1d A0ft B st smifde Fafifad & 3 e yua R e § 2
Options:
1) trend

2) cyclic variation

3) irregular variation
4) All of the options
Jff fasbed

Correct Answer: trend

Candidate Answer: cyclic variation

EEARACERYI
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QID : 477 -
The annual vehicles production (in lacs) in India is given in the pie chart.

ZH U 91¢ | YR | arg-l &1 aifie e (ard J) gxifa T g|

Hiex "i3ida

: Motor Cycle

Bi cyclf 90°
120

If the annual production of motor cycle is 1.80 lacs, the annual production

afe; Hiex Wl &1 afie IEE 1.80 1€ 8 o quidar GIRfbe I
Fiftfes Iaarc fba g 2

Options:
1) 2.6 lacs
2.6 A

2) 2.4 lacs
2.4 g

3) 2.5 lacs
2.5

4) 2.1 lacs
2.1

Correct Answer: 2.4 lacs
2.4 T

Candidate Answer: 2.4 lacs
2.4 99

QID : 478 - Let E and F be two events with P(E ) > 0, P(F|E) = 0.3 and P(E N F°) = 0.2. Then P(E) equals:
HH et E 3R F & geme 8§ &8 P(E ) > 0, P(FIE) = 0.3 3R P(E N FS)
= 0.2 B dl P(E) fPud SRR 3 2

Options:
1) 1/7

2)2/7
3) 4/7
4)5/7
Correct Answer: 2/7

Candidate Answer: [ NOT ANSWERED ]

QID : 479 - If the trend equation fitted from a data on production (y in kg) of a fertilizer factory is 26y = 5335 + 624t, where time(t) has unit 1 year. Then monthly
increase in production of fertilisers (in kg) is:

Tfe; Tl SR ol & S (y 76.0m H) F siicpet I s TR0 JUARY 26y = 5335 + 624t T, Talh JHA(L) BT e 1 TN B, A IdRP & e 31 (b 7m
) e gig e g 2
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Options:
1) 5335

2) 5335/26

3) 624

4)2

Correct Answer: 2

Candidate Answer: 2

QID : 480 - The probability that an urn containing 5 balls contains only white balls if the first two balls drawn from it were found to be white is :

5 Tiiciep! aTal bt arst 7 § AepTal 7MW &) Tiaie afe 40 7 P & o 350! =1 TiikicedT 817 o o #f Shad 4d Mas § |
Options:
1) 1/20

2) 1/10
3)1/2

4) 1/4
Correct Answer: 1/2

Candidate Answer: [ NOT ANSWERED ]

QID : 481 - Suppose owing to increased prices, a consumer reduces consumption of all commodities by 10% compared to the previous year. If I} and Ip are the
Laspeyres' and Paasche's price indices for the current year with the previous year as base, then

M e, fadl o 3iE % R IS SuHIET Tt TGN BT IuTNT, s Iy &1 goFT & 10% HH IR AT | O s ¥ B ouR v 7Hd gU Al 1, $R Ip TWR
3R U & a1 9 P GABID B af -

Options:

1) Ip= 09X I|_

2)[=09XIp

3) Ip X I = 0.9 X (100)2

4) Ip = IL
Correct Answer: Ip = I

Candidate Answer: Ip= 0.9 X I,

QID : 482 - The standard deviation of a distribution is 5. The value of the fourth central moment, in order that the distribution be mesokurtic, should be :

et e &1 TS faTeH 5 ¥ sicd Hed Bl §), 30P Y A1 Bk el &1 7 a8 ey 2
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Options:
1) equal to 3
3% W

2) greater than 1875
1875 ¥ 3ifdiw

3) equal to 1875
1875 & TR

4) less than 1875
1875 4 HH

Correct Answer: equal to 1875
1875 & IR

Candidate Answer: equal to 1875
1875 & SRISR

QID : 483 - If 'I' represents a cost of living index, then the purchasing power of money is proportional to

afe 1 Frafe gawie et 81 at uF @t wa-3ifad faes srurd & gl 2
Options:
11

2)12
3) VI

4)1/1
Correct Answer: 1/ 1

Candidate Answer: I

QID : 484 - The system of combining two or more overlapping series of index numbers to obtain a single continuous series is called

THd Tdd Joft U IR & R GEwIn! 31 &1 a1 St Srfiedt sRaenaft & TaieH Y HuTedt Bl 91 e | 2
Options:

1) Base shifting

YR

2) Splicing
Y

3) Deflating

SUTDIA

4) None of the options
el & A FIE TEY
Correct Answer: Splicing
RECCES

Candidate Answer: Splicing
Y
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QID : 485 - The formula for calculating an index number should be such that it gives the same ratio between one point of comparison and the other, no matter
which of the two is taken as the base or putting it another way, the index number reckoned forward should be reciprocal of the one reckoned backwards'- which test
of consistency of index number is this ?

ot Gaepics Y TR B BT T U1 GIFT 1T b I8 o1 & U o oiR ook fogy & offg 9l orgumd 3, 918 I & ol ot ot sneR & &0 & oy S,
Ife 34U GO TG U P I, AT UM T T Gaohich, Ui 0T BT 71T Gaoid! & S g d1feT YAPID! B, T BT U5 DA U4 § ?

Options:

1) Unit Test

e Twieo

2) Time Reversal Test
e

3) Circular Test
' Rl

4) Factor Reversal Test
IJUIGH ISHHUT TRIE0T

Correct Answer: Time Reversal Test
erit]

Candidate Answer: Factor Reversal Test
JUGH IEHHUT T

QID : 486 - Event S and T are independent with P(S) < P(T), P(S N T) = 6/25 and P(S|T) + P(T|S) = 1. Then P(S) is :
S 3fR T "G, P(S) < P(T), P(S N T) = 16/25 3R P(S|T) + P(T|S) = 1, ¥ = & oY P(S) T g 2

Options:
1) 6/25

2)3/5
3)1/5

4) 2/5
Correct Answer: 2/5

Candidate Answer: [ NOT ANSWERED ]

QID : 487 - Initially there are 9 workers, all being paid a uniform wage. Later a 10th worker is added whose wage rate is Rs 20 less than for the others. The
average wage gets :

URH H 9 FTHIR ¥ 3R I TadH] SRR BT Torgat &l ot o | a1 H T 101 HEIR 1t BT TR T ST 8 oIt Aorgd) &f &R o SHIRI &1 UL 20 F FA R |
FATSY 379 SN Torgd

Options:

1) decreased by Rs 20

20 % °E S 7

2) decreased by Rs 10
10 & °e SKi

3) remains unchanged

Gk

4) decreased by Rs 2
2= U St ®

Correct Answer: decreased by Rs 2
2= U S 7

Candidate Answer: decreased by Rs 2
2F YT O g

http://thepracticetest.in/csdecjam7/resd&|€e\_’bjdkl;(ih’ﬁ$bMQdfﬂ\/l Bam&&l&emzm«wws@ww&dw@sa& lert.In 36/42



1/25/2017 Download More PapestafSetestiongommisiciovt]obsAlert.In

QID : 488 - If L(p) and L(q) represent Laspeyres' index number for prices and quantities and P(p) and P(q) represents Paasche's index number for price and
quantities then :

T L(p) 3R L(q) PAdT 3R e Teith TR & Yerebics T <= B 3R P(p) 3R P(q) P! 3R TS & Faiy T U bl Teichich bl <ifd &, Y :

Options:

1)

Up) _ Plp)
Lq) ~ P(a)
2)

Up) _ Pla)
L{q) ~ Pip)
3)

Up)  Plp)
L{gq) = P(q)
4)

Up) _ Plp)
L{q) = Plq)
Correct Answer:
Up) _ Plp)
L{q})  P(q)

Candidate Answer:

Up) _ Pla)
L) ~ P(p)
QID : 489 -

Let x be a random variable with probability mass function

fl)=k |x|,ifx=-—2,1,3
=0 , otherwise
where, K is a constant. Then the variance of x is:

HM TR x U TR =R € e midar soaHH Bad §
fl)=k |x],ifx=-2,1,3

=0, YT
Wi K U fRRI® €, dl x B1 I8 F1d 2

Options:
1) 23/6
2)5

3)6

4) 37/6
Correct Answer: 5

Candidate Answer: 23/6
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QID : 490 - For a frequency distribution of a variable x, mean = 32, median = 30. The distribution is :

et =R x F Mgfy s F Ay, med = 32, wifereT = 30, § A deA B :
Options:

1) Positively skewed

¢S & 9 favy

2) Negatively skewed
BUTHS 9 Y fgwg

3) Mesokurtic

" P

4) Platykurtic
JuIe B

Correct Answer: Positively skewed
¢S ¥ 3 favg

Candidate Answer: Positively skewed

S =0 9 fawm

QID : 491 - It is known from past experience that in a certain plant there are on the average 4 industrial accidents per month. The probability that in a given month
there will be less than 4 accidents is : (e4= 0.0183)

fosa argua 9 g8 J@A o o § o faset <o & wiomg ofivae 4 sefie e 81t § | Ua 7e & 4 9 o1 gt ghft, 39! mRisdT R g : (e = 0.0183)
Options:
1) 0.398

2) 0.433
3) 0.442

4) 0.465
Correct Answer: 0.433

Candidate Answer: 0.465

QID : 492 - For a frequency distribution of a discrete variable, the diagram of less than type cumulative frequency is a

ot Tad @R & Mg e P Iy Tordt IRGRAT TPR T HH & 3R B
Options:
1) non-increasing step function

R- g TuH Ber

2) non-decreasing step function
R - B AUH Ber

3) non-increasing continuous function
R 3G ad wad

4) non-decreasing continuous function
R 3 ad Bad

Correct Answer: non-decreasing step function
R - BN WUH e

Candidate Answer: non-decreasing continuous function
R N TAd Ha
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QID : 493 -
If a continuous random variable x has the probability density function

fix) :{3):2 ,0<x<1  then value of a such that P[x <a] =P[x > a] is:

0 , elsewhere

ofe fordt Hag aefese TR x &1 Wiied 99d Ba

flx) = 3x?,0<x<1
0, 4gH

daR Plx<a]=P[x>a] & T a & 7H FaSC

Options:
1) 1/2

2)1/3

3) .
(£)?

4)
()

1
3

Correct Answer:

ey

Candidate Answer: [ NOT ANSWERED ]

QID : 494 - In a negatively skewed distribution
& FHUNED favd de H -

Options:

1) Mean > Mode > Median

I > Sgad > ARl

2) Mode > Median > Mean

gD > IS > A

3) Mean > Median > Mode

T > HIed! > Tgad

4) Mode < Median > Mean
qgdD < HIRIHT > W

Correct Answer: Mode > Median > Mean

Sgaich > Hifehl > HE

Candidate Answer: Mode > Median > Mean

qger > AT > A1l

QID : 495 - Let x ~ Binomial (5,0.6) and Y ~ Poisson (2) be independent. Then P(xy = 0) equals :

T T x ~ 30T (5,0.6) 3R y ~ @R (2) WA &, Y P(xy = 0) SRI&R BRT
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Options:

1) e2, (0.4)°

2)e2 +(0.4)°

3) e2 +(0.4)°- e2. (0.4)°

4) e2, (0.6)° + (1-72)(0.4)°

Download More PapestafSetestiongommisiciovt]obsAlert.In

Correct Answer: e + (0.4)>- e2. (0.4)°

Candidate Answer: [ NOT ANSWERED ]

QID : 496 - The mean and standard deviation of a variable x are 36 and 4 respectively. Then the mean and standard deviation of [50 - (x/4)], respectively are :

5 TR x & W1 3R AFS fae AT 36 3R 4 B1 1[50 - (x/4)] & HIET 3R AFS e, HH: 8 ;

Options:
1)41,1

2)29,2

3) 40, 1

4) 39, 4

Correct Answer: 41, 1

Candidate Answer: 41, 1

QID : 497 -

The Joint distribution of x and y is as follows

x&hwaﬂﬁgaasi’c':lﬁuﬁ‘@a%:

N

1

2

1

0.4

0.2

0.1

0.3

Then E(x|y=1)is:
al E(x|y = 1) G :
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Options:
1) 2/3

2)5/3
3)2

4) 4/3
Correct Answer: 4/3

Candidate Answer: [ NOT ANSWERED ]

QID : 498 - If a variable has three values -k, 0 and 3k with corresponding frequencies as 3k, 2k and k respectively, then the value of coefficient of skewness b is :

gfe; 3t TR & ofF A -k, 0 3R 3k § 3R ST T il R 3k, 2k 3R k &, < U I[N by BT HH R :

Options:
1) 2K

2)2
3) 1/2

4) K/2
Correct Answer: 2

Candidate Answer: K/2

QID : 499 -
If x is a continuous random variable with p.d.f.

.
flx)= e

and y is defined as y= x +1, then E(y) equals:

ep (£5) - <x<oo

Tfe x T Tad Urefwsd == ¢ forgd wiftdmal o9 hem

I |
f(x}_ \Jﬁ

%Gﬁ?y ﬁyz:ﬂl éi“@—uﬁuﬁmﬁﬁﬁ?mw%,?ﬂﬂw ST T

exp () <50 < x50

Options:
1)1

2)0
3)n

4) (V) +1

Correct Answer: 1
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Candidate Answer: (Vn) +1

QID : 500 - If p, be the rth order central-moment of a population pg, M1 and py are : (where, o = standard deviation)

ol s AR BT r-at Besa ol e B, A o, by IR Py P A B ¢ (P, 0 = A frerer)
Options:
1)0, 1,02

2)1,0, 02
3)1,1,0

4)1,0,0
Correct Answer: 1, 0, 62

Candidate Answer: 1, 0, o2
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